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1- Physical Geodesy: W. Heiskanen and H. Moritz

2- Geodesy the concepts. P. Vanicek and E. Krakiwsky

3- Physical Geodesy: N., Sheeuw

avallable at http://www.uni-stuttgart.de/gi/education/dipl/erdmessung/L NErdm.padf
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h (Ellipsoid Height) = Distance along ellipsoid normal (Q to P)
N (Geoid Height) = Distance along ellipsoid normal (Q to F,)

H (Orthometric Height) = Distance along Plumb line (F, to P)
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Suppose you are doing airborne gravimetry. You are flying with a constant 400

km/h in Eastward direction. Calculate the horizontal Coriolis acceleration. How

large is the Eotvos correction? How accurately do you need to determine your

velocity to have the Eotvos correction precise down to 1mGal? Do the same
Yo calculationsfor a Northbound flight-path.
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